L1 efficiency

L1 efficiency

| AL A A R N B & T
L = C L =
[ ] [} [ ]
[ i o) [ ]
0.8 1 5 o8- :
i 15 ]
0.6F 4 T oef 4
0.4 ] 04l 4
r ni<0.9 ] r ni<0.8 1
[ e Data ] i e Data ]
0.2 [ simutation ] 0.2 [ simutation ]
r CMS,\s =7 TeV 1 r CMS, Vs =7 TeV 7
L | R | ] L R L] ]

10 10? 10 10?
p. (GeV/c) P, (GeVic)
Y L O PR AL ? Y L S

[ ] _g L i'—ﬂﬂ*ﬁ_%
0.8 4 5 osr .
: 15 ]
0.6 4 T os- .
0.4 . 0.4 ]
E 0.9<p[<2.1 Bl E 0.9¢p|<2.1 B
[ —eData ] [ —eData ]
0.2 r [ simulation ] 0.2 r J [ simulation ]
r CMS, \s =7 TeV 1 [ CMS,\s =7 TeV 1
L Ll A I 1 L . ..m.aj . | 1

10 10? 10 102

p_ (GeVic) p. (GeV/c)

T

L1+HLT efficiency

L1+HLT efficiency

1 ______________
0.8~ -
0.6F -
0.4 .
E [ni<0.9 1
[ e Data ]
0.2 [ simutation ]
r CMS,\s =7 TeV 1
L e 0 ]
10 10?
P, (GeV/c)
1 _________________ pu—
0.8; ﬂ***‘}fk*}“ B
0.6- .
0.4 .
E 0.9<[<2.1 B
[ —eData ]
02 I~ I:l Simulation —
L p ]
[ r CMS,\s =7 TeV ]
L L L Co il
10 10?
p. (GeV/c)




